Seat No. :

NQ-106

December-2015
B.Com., Sem.-I
CE-101 (B) : (Adyv. Statistics) Basic Statistics — 1

Time : 3 Hours] [Max. Marks : 70

das: (1) w™ell oy auid is ol sauld €.
(2)  d¥ ALEL LA GUAldL 3 ASL.

1. (a) <2 weldl Axydl agAolu-l Aec{Hl 21l 4

(1) AsAd el

(2)  ASALYAL USIRL

242l
ARl s Aeiold (a9l g5l quil.
(b) 1A 2l Wledl He sHis dweAoluis Wl : 4

x |50 | 55|55 ]60 | 65|65 ] 65|60 ]| 60 | 50
y | 11 [ 13|14 |16 |16 | 15|15 | 14 | 13 | 13

24
A2 el wledl vl Yl dRicis Aeitis Hodl :
N =170, (A) = 80, (AB) : (AB)=3:5, (aB) : (aB)=2:7

(c) A 2l Wledl uell ueuoiuis Hadl : 6
v *10-50 | 50-100 | 100-120
10 22
12 16 12 4
16 10 6
20 6 4

L]
ol diagel A A B |2 Al wilfedl wa o -

N =280, (AB) = 80, (o) = 120, (B) = 140

() AvuMeldl ld A 2 B AL doiy-Al sl el

() WHRIRRA Fd B 2t A AL AsigAl SR Rl
NQ-106 1 P.T.O.



2. (a)
(b)
)
3 (a)

NQ-106

da1sla yalquiadl uglazti-dl 21o1dl e,
DL

sty yalgriadl Al wglail aslal :

(1)  Yasiis
)  olé:dun
3)  ulls W3l

4) 2uauil ugla

A2 20Ul sl He Yrvitd sl 53U

ay 2000 | 2001 | 2002 | 2003 | 2004
Gewen . 130 | 145 | 154 | 170 | 185
(‘000 25HML)

Ax 4y 2006+ GeULerle UBL MLt 53U

DL
[eaid AML50L y =a + bx + cx? o, il Hie Al Huledl sl «© -

n=7,Yx=2Xx3=0, Zx? = 28, Zx* = 196, Lxy = 15, Zx?y = 359 [gald A¥ls01
iUl A58 Haal.

WR[GS 2 200 2 o = 0.25 a9 Al wledl uedl el el add

iqHIA Hadl

awy | 2010 | 2011 | 2012 | 2013 | 2014

Bwa | 210 | 220 | 221 | 225 | 224
DL

Yedd oldl ugla-dl Gualdl s34 Al wledl uedl (zaidl
el 52 dHY AR x =13 el AR y -l Bidd 23 daal.

X 2

4

6

8

10

12

y | 10

12

18

15

13

16

Al [avas szl vl »udl, di Gualell welldl.
DL
Al [aMas sl AecHl AL weldl [rdd Hlsdl 20l :

(1) IMR
(2) CBR

(3) Al [avus wledl
4) Al [vas tissl

CECTERR]



(b) ol %el-%el ASRAHL el AUBdAUAL 202104 (a9 wvuell 12 206l ufsdl

w2l s : 4
s a8 wHIBid a8
Gu el ﬂ.cg'ﬂ el ﬂ.cg'ﬂ
vy vy
0-5 5000 225 7000 280
5-25 40000 800 50000 900
25 — 60 25000 250 30000 360
60 vt 4Y 20000 600 13000 325
2420
{12l Ul uedl GFR 21+ TER Hadl
Gur 15-20(20-25(25-35|35-40| 40 —45 |45-50
L 6 25 70 105 180 60 14
(c) A 2uue Hledl uel ol wdAnL Wl ABd2iAL 20l ARl U 6
GuR 0-15]15-40 | 40-60 | 604 ay
ade A Q- 30000 | 40000 | 60000 20000
£ SR Y, 24 20 30 70
ads B ad) 40000 | 100000 | 80000 60000
Yyl vl 1000 | 4000 | 6000 10000
wHildia ad) 35000 | 70000 | 70000 40000
2420
“Yogeir, g7 (49 g5l Avil.
4. (a) <AL AR Gelswl Aled ¥l : 4
(1) AR Alds
2) [asell silfes
(3) s aAlds
(4) AMq Al
2420
ol ARSIl ARAU-oleolLslAl UM Gelewl Aldd AModl.
NQ-106 3 P.T.O.



4 2 4
(b) A A:[ } B :[ . _01 }elq dl (AB) 211 (BA) Hadl. 4

-3 0
YU
2 -3
%?LA:[l 5 }Qq dl AZ—2A + 31 39l
2 3 1
() A= -1 2 0 [glddl A-(AdjA) qadl. 6
1 -1 2
YU

Al 200a aHLs0UAL G3a AlRisl weedl oAl ¢
2x+3y=5,4y-z=3,x+y=2.

5. s ABAHL oAl vl 14
(1) dyel 4 Agioidd 215 Gelewl dvil.
) (a3l susla-dl »is Halel weudl.
3)  std-MuuAdAdl ugladl 215 walel amual.
(4)  ueRAelY 2 RIS Aoit QAL Yo dsldd dvil.
(5) Y-l oRUcus Aciaisl [Ad1R sul ¢ld © ?
(6) ol Ml vs-ollondl Wl sA1R sEay ?
(7) 4™ QUL Rigid el
8)  [zend AHls0u v dllFd $24L Hiedl WHwRd AHs0U %sudl.
9) disla A0lls2edl ugladl Hva siael ol
(10) <l [vas 2Uiss12Al 2158l sl il un el
(11) Al [aMas 2iss1d, 215 Gelewl Uil
(12) aldisl vl 2uyl.
(13) 2lBLs 2 [H204s 92l dslad g ?
(14) AlRsiml adidAl s Gualol sl

NQ-106 4



Seat No. :

NQ-106

December-2015
B.Com., Sem.-I

CE-101 (B) : (Adyv. Statistics) Basic Statistics — I

Time : 3 Hours]

Instructions : (1) Figures to the right indicate marks.
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©
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(2) You can use simple calculator only.

Explain the following terms with reference to correlation :
(I) Probable Error
(2) Types of Correlation

OR

Write a short note on Association of Attributes.

Find rank-correlation coefficient for the following Information :

x |50 |55 |55 |60 |65 ]|65]| 65|60 | 60|50

y (11 |13 |14 |16 |16 | 15 | 15| 14 | 13 | 13

OR
From the following data find Yule’s coefficient of association.

N =170, (A) =80, : (AB)=3:5, (0B) : (0f) =2:7

Find correlation coefficient from the following data :

g 0-50 | 50-100 | 100-120
y
10 22
12 16 12 4
16 10 6
20 6 4

OR
For two attributes A and B, following data is obtained :
N =280, (AP) =80, (o) = 120, (B) = 140

[Max. Marks : 70

(1)  Find nature of association between A and B by using comparison method.

(i1)  Find nature of association between B and A by using proportion method.
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Give importance of business forecasting methods.

OR

Explain following methods of business forecasting :

(I) Index number

(2) Extrapolation

(3) Economic models
(4) Graphical method

Fit a straight line to the following data :

Year 2000 | 2001 | 2002 | 2003 | 2004
Production 130 | 145 | 154 | 170 | 185
(in ‘000 units)

From it estimate production in the year 2006.

y =a+ bx + cx”.
n=7,%x=2Xx=0, Zx? =28, Ix* = 196, Lxy = 15, Zx’y = 359. Obtain the fitted

2

OR
Following data were obtained for fitting quadratic equation

quadratic equation.

By taking initial forecast 200 and o = 0.25, obtain various forecasts from the

following data :

By using method of least squares, fit an equation of 2™ degree parabola to the

Time | 2010 | 2011 | 2012 | 2013 | 2014
Value | 210 220 221 225 224
OR

following data and estimate the value of y for x = 13.

X 2

4

6

8

10

12

y | 10

12

18

15

13

16

Define demographic statistics and give its uses.

With reference to demographic statistics explain the followings in detail :

(1) IMR
(2) CBR

OR

(3) Demographic Information

(4) Demographic Statistics
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(b) Compare the health standard of the persons living in the following two towns :

©

4. (a)
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Local Town

Standard Town

Age

Population

Number
of Deaths

Number
of Deaths

Population

0-5
5-25
25-60
60 & more

5000
40000
25000
20000

225
800
250
600

7000
50000
30000
13000

280
900
360
325

OR

Find GFR and TFR from the following data :

Age

15-20

20-25

25-35

35-40|40-45 |45-50

Fertility Rate

25 70

105

180 60 14

Compare health standards of the persons living in the following cities :

Age

0-15

15-40 | 40 — 60 | More than 60

City A

Population

30000

40000 | 60000 20000

Deaths per thousand

24

20 30 70

City B

Population

40000

100000 | 80000 60000

No. of Deaths

1000

4000 6000 10000

Standard

Population

35000

70000 | 70000 40000

OR

Write short notes on “Fertility Rates”.

Explain the following matrix with illustration :

)]
2
3)
4

Square matrix
Diagonal matrix
Unit matrix

Symmetric matrix

OR

Explain the rule of adding-subtracting two matrices with illustration.
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(&)
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4 2 4 0
IfAz__3 0_,13:[1 _Jﬁnd(AB)and(BA). 4
OR
NP
If A= | 2_thenfindA2—2A+3I.
2 3 1
A=| -1 2 0 |[findA-(AdjA) 6
1 -1 2
OR

Solve the following equations by using matrix algebra :
2x+3y=5,4y-z=3,x+y=2

Answer in one line only : 14

Give one example of perfect positive correlation.

Give one limitation of scatter diagram method.

Give one limitation of Karl Pearson’s method.

Give main difference between correlation and association.
What is the range of Yule’s coefficient of association ?
When two attributes are said to be independent ?

Give least square principle.

Write normal equations for fitting quadratic equation.

Give main advantage of exponential smoothing method.

(10) Give the names of methods of collecting demographic values.

(11) Give one example of demographic statistic.

(12) Define Matrix.

(13) What is the difference between Matrix and Determinant ?

(14) Give one use of matrix algebra.
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